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STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, CHENNAI - 6
ZOOLOGY -1
CLASS: 11
Time Allowed: 2.30 Hours Maximum Marks: 70
Instructions:

i. Check the question paper for fairness of printing.

ii. Use Blue or Black ink to write and underline and pencil
to draw diagrams:

Bl eyemir e

1. yemendhs alenrdss  Fllwrs ugeaurd) o sens  srsirLIHems
sflurids, Garsnars) .
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susmrsugn  Gluerdlsd Lwsiru G s

SECTION - |
(15X1=15)

Note: i. Answer all the questions.
ii. Each question carries 1 mark.
Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer.
iii. Write the correct answer for the questions without options.

Sl

) syewenhs allarrhsensg el wsllssea)

i) spsuGlour  allewrrdsembE o wHGUST anphisiin
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iii) allsmi_d@pmlli st Gsvaor: allsrrdsend o Mw ugewev sripsa

1. Which of the following is the correct sequence of taxonomical

hierarchy?

a) Class, Family, Phylum, Order, Genus and Species
b) Phylum, Class, Order, Family, Genus and Species
c) Phylum, Order, Family, Genus, Species and Class

d) Class, Phylum, Order, Family, Genus and Species

1. suemaumrigws) Ly Klsmesalls Fflwrer suflens

9. sul , BB v, Bsrmgl euflews, Budlsrn whmnn Ahrlen
9. BlsrEmal sugliy, suflens, BB, Guilsrin whHmib Fhlen
3). Darmgl auflens, @Eibr , Guilsnb, Apmlesr  wHDN ey
el Blar@al, suflens, @i, Guflsno why  Abflen

2. Match the following zoological names with their common names.

1. Ascaris lumbricoides - (i) Pin worm

2. Enfterobius - (ii) Round worm
3. Wuchereria bancrofti - (iii) Hook worm
4. Ancylostoma deuodenale — (iv) Filarial worm

1 2 3 4
a. ii i iv iii
b. i ii iii iv
C. i i iii iv
d. iii i i iv

2. Kpsasa  alsvti@gsall  ailmdle  Guwissh whm  Frsrrerd Gluwissnsn

Glurmszs
1. gpswwrd  sppbiflsmdn s - i) ear gy
2. srsart 19 B ween - ii) l‘_l_i';.ﬁ'ﬁ']ﬁlrll_rl_“ig
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3. e_daPflwmr wrsirarri - iil) Gasrdaline oy
4. gpsmenaGaursuGLmon i3 Gwmg Garst - IV) wimsmerdasmelLyig
1 2 3 4
. i [ iv i
<. ii iii iv
@. i [ i iv
. i [ i iv

3. Assertion (A): Bilateral symmetry in Triploblastic animals is

considered advantageous.

Reason (R): This helps animal in seeking food, locating mates and

escaping from predators.

a) A and R are correct and R explains A.
b) A and R are correct but R is not an explanation of A.
c) Ais true and R is wrong.

d) Ais wrong and R is true.

3. [T :@@J 1 F LD F T s e apsuBld 2 whl Flgwr i el HEMEULIT 55

. -
AT emaT LILICE

srrsoni Gousorys 2 owaBss |, FooanGa sy |
stdllsafl 1flimba snllbs: 2 gay .
9. dnf DM STrErd Fil. g Dmdbars srrenri FAlurs 2 siteng .
Q. Fwf  whHm  Hrrewrd M. sapmishers srrend Fflurs Glslsms
B). s Fil yevrrs HTrEMIL Heup .

. dn o &Heun %Eﬁrlr'ﬁl STIrevart g,

4. |dentify the tissues marked A and B in the given pictures.
a) Adipose tissue and simple columnar epithelial tissue
b) Reticular tissue and simple columnar epithelial tissue
c) Adipose tissue and pseudo striated columnar epithelial tissue

d) Reticular tissue and pseudo striated columnar epithelial tissue
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4. Bar@aéstiu Gersm Awhn  B-t o sirs SAlwdsenargemi wimerid &rsvm
9. @y IBuTsSlar whmn Hrewang  srillfsd Sals
9. Blrt iy @eonri e whHmnb s1  angs erilGsdl GHla
®). @y OBursiugls whmih Burii@e  graveuy  snilded SHl
. Bl ig@geor i Bla whmnb Quminn®é;  sreweng  snflfad 540

5. The male genital aperture is located at -------- segment. Number of
penial setae in genital apertures is -------

a. 18t segment and 2 pairs b. 18th segment and a single pair

c.14th segment and 2 pairs d. 14th segment and a single pair.
S. wemrijapalls s Ferl Glumbsdsismenssit srsmiuibssaie.  wHDID HaubHr
2 sits  Teaflws FIrdsaflsh sramrenilés
9. 18 whmb 2 Qewewr  gy. 18 whmib spy 3)ewevor
@). 14 whmib 2 Qewewsr  rF. 14 wohHmnbd sp0 @) ewewr

6. ldentify the type of nephridia of earthworm. Write the segment

where they are present.

@

F-r
f?g‘ G "_?

Mega nephridium and 19t segment onwards.
Micro nephridium and 14th segment onwards

Mega nephridium and 14th segment onwards

o o T o

Pharyngeal nephridium and 5 to 9th segments
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STl Biseme  Hmln

®
—
ks =

9. OwaT GBsOfigwr whmn 19ams s (1pa
9. mie  Bmeatifiqwir whmnd 14eus  sevre  apa
@). Qwar BEstifigur wHmib 14e1s sHeim  1pa

FF. G‘I;g,u STTEmIL G'I_r_r,g':.';l,'llﬁgum whm 5 (L 6L 95‘11,_5; ST UM

7. Which one of the following is called wisdom teeth?
a. Third molar, four in number
b. Third molar, two in number
c. Second molar, four in number

d. Second molar, two in number

7. &ipdbsamsun BRI LILT 6T6UT eMmLpddsiiLI(RILIss

9. apsirmrsy  SLsumiiiue , 4 srsnremildensulilsd

9. apsiTmTey  SLsurin 2 sranrenildsnsuilsd
3). @rswrmay, sesurin |, 4 srarenildsnsullst
. @) e SLsumiiusy, 2 srarsnildsnsullsy

8. Which of the following is called “pace maker” of the heart?

a. AV node b. SA node
c. Purkinje fibre d. Bundle of His
8. @swhsl  “Cusht Bussi” erar Hepyphasiiufaug .
9. 2 Md@Gurblausin figmevri pgd: . smegsr il %5
®). uidlsn  Briflewip . anflsiver & memn

9. What will happen if there is no Henle’s loop in the nephron of mammals?
a. No urine formation
b. No change in the quality and quantity of urine
c. Formation of concentrated urine
d

. Formation of dilute urine
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9. urspmu Glmoatirrsaflsy  Glamsirsflausy @svsmaoGlwaflss  £1pda 61 /ha
Ble®eVew W1 &7 45T LI dabsmir ?
9. Amuht 2_peurd  menL Llumra
9. Al S0 wHy  HETs WTDTE
Q- Agip  EHps TaEPLwsT FPHHGD
o Amy BT GsIE srenTin

10.Arrange the vertebrae in ascending order on the basis of their number

1. Cervical Vertbrae 2. Thoracic vertebrae

3. Lumbar vertebrae 4. Coccyx vertebra
a.4,3,2and 1 b.4,3,1and 2
c. 3,4,2and 1 d. 3,4,1 and 2

10. Kipdmsir wpar@erabyyss  sramrenilssmaullsh g iusnul  srmysuilsneulls

PSS TSI -
9. 4,3,2 whmi 1 <. 4,3,1 whmib 2
3). 3,4,2 whmn 1 . 3,4,1 wmhmib 2

11.Match the number of spinal nerves in column | with their number given

in column Il
Column | Column Il

P. Cervical nerves - i) 5 pairs

Q. Thoracic nerves - ii) 1 pair

R. Lumbar nerves - iii) 12 pairs

S. Caudal nerves - iv) 8 pairs
a)P-1V Q-1 R-1 S-li
b) P —1li Q-1 R-1I S-1IV
c)P-1IV Q-1 R-1I S-1l
dP-l Q-1Iv R-1 S—1il
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1. Osrag - Qarfdsii’ Rsirer sambhloy  HIibLsHsnen OB Tz

ll-¢ QsrfHldsiiud Hlsrenr HiHbhs srenrsnildanmemuufhb Glummbs

Qsra | Qsrss |
P. supdsn vims mBribyssh - i) 5 @)emewt
Q. wiriy wums BELYSsT - ii) 1 @)ewewr
R. @@ w@g B ssi - iif) 12 3@)swewr
S. aurs U BILDLHT - iv) 8 3)swemr

12. Which of the following hormones are referred as 3F hormones

Insulin and glucagon

a.
b. Adrenalin and nor-adrenalin
c. Calcitonin and paratharmone
d. Thymulin and thymosine
12. £1pdsan anriGuwrsissilc 3F anriGuwrs srsiiy yepphsiinBey
9. @sirwsllsd WDHMI ([ FHiEK HHTs
9. =t s ommitn B -2 s
3). srABL reaflst whHmd LT rrHTTEImesr

. engupalledr tohm  ems G rdiss

13. Foetus development can be observed using
a. ultra sonogram b. X-ray
c. ECG d. EEG

13.&@&‘1|a‘mi&¢ﬂa‘ﬂu|¢i, a!fﬁm.i.ayl & 6TL (LpsmMu s mesmore_mflwsom
9. e rrBarEsarm sy 9. X-® gl sl 3. ECG . EEG

14. Find the correctly matched pair

Schleicchera oleosa

Karungalli

Acacia catechu

a.
b. Karuvelai
C.

d.

Kumbadiri - Acacia nilotica
Lac insect - Laccifer lacca
7
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14. £ipdsmsin_suhmsit FPlwmer @ snenrsnuld Heure 1
9. HfHEISTED - sGlsvulldGarrspsdlan (Schleicchera oleosa)
9. H(HSauene - H&Bsdlwrs’ 34 (Acacia catechu)
@). @ibLTgf - srs0flBLreflst whm  (Acacia nilotica)
. BT Ly - BevddaauiBsvdar (Laccifer lacca)

15. Find out the name of the breed from the clues given
1. Golden or light yellow coloured, good egg layers, delicious and

beak is long

2. This breed mature early and begin to lay eggs at the age of 5 or 6 months
3. Pea comb is the important character of this breed.
a. 1. Brahma, 2. Leghorn and 3. Chittagong
b. 1. Brahma 2. Chittagong and 3. Leghorn
c. 1.Chittagong, 2. Brahma and 3.leghorn
d. 1. Chittagong, 2. Leghorn and 3. Brahma
15.£C8y GlarGestu’ Hsrs  HUliyssoard wwetu®d  sths  @er  srsiTUS
S
1. @eweu Gursirafin sy Gswafli  wehas Bnss 2 sitens . Amba
ap e uilBlusnal senautllhhssna DT D0 [ eITL_sm
2. Qeweu allewrails pdlidflwent hs O Hevsm 6 wrstisme apt’smi_ull
SHlaumiEl
3. il rem Gasremen. Bass Amlglius

9- 1. oo 2. @EUH}:&;@rr i an 3. & s
9),- 1. Wi 2. A s 3. @nﬂ-ﬁp}.ﬂliﬁ
@. 1. A0 2. Lilrmiw 3. @nu.ig._@,nlid
o P I 3 PR 1 2. Gllﬂ..'-"-;h‘ﬂ.ﬂ'iﬁ 3. wlormiow:
SECTION - 11

(6X2=12)

Answer any six of the following. Question No. 21 is compulsory.
Each question carries 2 marks. Answer in about 30 words.

Niflay - 1
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stemeu Guisy or  allsnrdse alewLwef. aileorm srs  21-d@E el wallliug

L rruJ[!:urr@:h.

16. Differentiate probiotic from pathogenic bacteria.

16. vws 1 wrdefwrens Guruyds urdefuralsdmbs CsumiuB b

17. Write down the significance of INOTAXA.
17. INOTAXAals  ppdhailurdsiahslensn sripsie .

18. a) Which is the largest phylum of the Kingdom Animalia?
b) Write any two excretory organs of the organisms of the mentioned

phylum.

18. o) alsvmgevsslsir lstGuiflu Glsr @ stg ?
<) AHGEre e ulfllarmsal  sflayfs o midyssr @ rewng e
TS

19. a) ldentify the muscle tissue mentioned below.

b) Write down the parts marked as X and Y.

19. o). Lipsbsa  swsdblaamar e wrsr. K5 (h TIPS .

o). @ale Xwnmn Yersh  grldsiuc Bs urstssns ol

20. a) Red blood cells are produced in ---------
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20.

21.

21.

22.
22.

23.

23.

24.
24.

b) RBC production is enhanced by a renal hormone -------
a) Asuliismd o Hud GlFEiwi TR
b) #auiiism 2 Muibblenuid e A aoriGuwrs --------- )

a) What is ornithine cycle?

b) Where does it occur?

a) gyiaflgen:  &ypHd srsiimrs sredrs ?
b) @hmsipd: st memi Gy ?

Define - Spike potential.
SUEMTIL]  — dn T (Lpsmen  LOT6HT 80T Ers 7
Write any two significance of Electro Encephalogram. (EEG)

steud_ BrrsrsirBauBsuralrmdsir (EEG) wpaalwen bz (@) rsvbrig.e
STLRI: -
Mention the three steps involved in lac cultivation.
Hrdg e pudsul  apsiry L mlamsussmerd @Hmlid
SECTION - III
(6X3=18)

Answer any six of the following. Question No. 30 is compulsory.
Each question carries 3 marks. Answer in about 45 words.

(Niflsy - I
(6X3=18)

stamsuBuwisnin  r  allsrrdssnd  allewiweafl. eflorr sts 30-d@  allen waflling

&1 rrumm'[g-',ﬂ .

25.

Observe the vertebrate animals given below (A and B). Write down

any two common characters and unique characters of these animals.

25.

A B

~ :

Lit }E;..;I_E AII]I_I‘I_:'lg Bﬁ?ﬁiirl @,ﬂ_"].ll.ll,j'..'l Crr (psir ﬁ‘]ﬂﬁulél@mﬁ‘m %Ijliu‘]‘é.

10
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@sunmsslsn B 2 sirs Blurgeursyr usnTys  wHM Hefl L
Lsryss speublenreimingg  Ersvrge  sTapse

26. Define the terms a) Vermiwash and b) wormbin

26. £1psha GlaETHsswsn auenIw] —
9)) s Gapilu Lt B 9. UL

27. What do you infer from Oxygen haemoglobin dissociation curve?

27. gybdlgm  anf GuwrgGsnridlss Uliflsnsmausnsna) gnlds B opleuet wreneu?

28. ‘Smoking is injurious to health’ — Justify the statement.

28. ‘s OIS HID 21 HeUhd Ba® allsmenalldmt - Blwrwiu B s s.

29. Differentiate Stenohaline and Euryhaline animals. Give examples.
29. sivie Sawrranrensvsit whmib N 8anamsusir allsvmgsss  Gaumi(f

D_hil T G0aT Il & &Hihe .

30. a) What is carpal tunnel?
b) Write the differences between carpals and tarsals.
30. o) wemflbsl & srsdsurt srsiimms srsirs 7
o) Losmilda STSRIDLY KBS LM HEmEETs  sTEIDL| &% EhE %I 2 _siTs

Goumuir HaoHsmen sTpSHI¢ -

31. a) Write the cause of Grave’s disease.
b) Mention any four symptoms of this disease.

31. o) SBraflsht Bhriihsrs Srrenihiss Wreneu?

o) @HSnrulle  gilgm:  aGsemn mrsirdlensy Hmlii

32. a) Identify the instrument given in this picture.

b) Write the significance of this instrument.

11
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32. o) gl ST OuC BT 2 LsTrend Slsnard s 1)

o) Blas  WphAwssbLems TSI
33. Name any three fishes and three plants which are cultivated by
the technology called aquaponics.
33. mi 2 ullfl — pullisueritic (SydsurSureaflss ) Blsriyflsvmi’ Lgglsr mpsoi

suen Fdb&sCILGL apeary fsira  whmib reursiseils Gluwissnerd ol B .

SECTION - IV
(5X5=25)
Answer all the questions
Nifley — IV
(6X5=25)

Ssmest h gl allsw 1 dh s e ailew_werfl.

34. Observe the following diagram and answer the following questions.

i. Mention the phylum of this animal.
ii. What type of symmetry does the animal exhibit?
iii. Name the special cells which helps in food capturing.
iv. Name the larval form of this animal.
v. How does the animal differ from cnidaria?
(OR)

a) Write an account on flight muscles of Columba livia.

12
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b) How the female reproductive system of pigeon is adapted to

aerial mode of life?

34. £Cy BwnHdbsiiu’ Hsrar ailsobidlsnen gy Blaiig £1pha &l suT T s 51

%

aflewL_ eTipsia .

3) BGeuallsvn @il Qupmusirer Qsr@Senuwid Golinl®. .
<) @susilsvmidlsy 2 _site FwiLi sevrsnwwr  ?
@) Benrenwit 1Nigdbd , Fauallavmsly o sts Andiures suens GlFssm wreneu?
) [@suailsvrig]  somisurplansvsnwid @ml il
2 ) @aallwon  BCLAwr Blgm @l allsumialsd STEHEUIT)
Ssumumaim ?
(<=qs sva )
9y) Barsiursdalwrallar und @i smass Glda sripHit .
<) ymral  Glush @GeriGlug Weirs)  LmdHsel Blrwegihs s

STSMGUT)  LOTMILT  Hjeml_fbaplel P
35. Tabulate the functions and deficiency symptoms of fat soluble vitamins.
(OR)

a) ldentify the leucocytes labelled A to E in the following diagram.

b) Write down the structure and functions of each type.

:‘%
i
TRPE

® 3

35. Qarapiindlst sewruy  smaul L iflsrsall  wsnllss wHoG Hempurd { GhTiisensn
S LS LI () dh 51 5.
(2psvevs)

13
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@{) ef@g) @mn@&,&,l',rljlj,@aira‘l it ﬂﬁ? A
Glousitemen i gym) & Gluwirssmend Hmlln

<) spsublaur  suensule  yEnwll  wHDH Ul SHEDeT sTILHSI -

36. a) Name the four categories of exercises.

b) List down the beneficial physiological changes of regular exercise.
(OR)

a) What are the components of limbic system?

b) Why do we call limbic system as ‘emotional brain?’
c) Write a note on brain stem.

36. o) 2 L puuindlulls BrsiTE ouHHHEVET TSI -
<) Blgri i o L Huulnfluils ellewereurs sthudEl meirsm  &m 21 HEFwsdw
wirmmhiseman uCigwsdlE .

(Spsvsvg )

) elbeild et _suha 2 osite 2 muli|seh WTeMeu?

o) aflinddl s 2 _ewridd mpsmen’ sts M yeMLpHSILIREISSHT HTTERTL

H]II"Q ?

Q) apswar; pen HHlh: GO euwTS.

37. a) Distinguish between hyper and hypo secretion of hormones with suitable
examples.

b) Explain the terms.
i) Addison’s disease
i) Cretinism
iii) Gull's disease
(OR)
a) What is Piezo-electric effect?

b) Write the clinical significance of Ultrasound imaging.

14


https://byjus.com/?utm_source=pdf+click

[{BYJUS

37. o)) amriGuwrsias lewas Hriiy whHmb Hemn &7 DA wsuHemn
B_gTyeNIhisEnl s Camiu®mhss.
) BipdhsHent  USBBHME allendhE
) opgaafl  Gpmi
ii) @liflug eaflari
iii) wsvalls Bmmd

(spsvsvg )

9) TGswr — uilsirBeorm.  ellsmenay stsirmnr  sisire 7

<) BGwred Hipsy  Barpmuwrdsd smallu  wimdHs
pdhalusugbs  wremeu?

38. a) What are the characters of cultivable freshwater fishes?
b) Explain how hypophysation technique is adopted in induced breeding of fishes?
(OR)

a) What is Multiple ovulation embryo transfer technique?
b) Explain the methodology.
c) What are the advantages?

38. o) susnidhmling  medresl  fswas ApOyl usye  wremen?
o) sirsmat  spaniGursesnuBsagelr wpenmulls srersun  Hrar
@) esri1GILmdhsD Glain iR E me?
(psvevs )
9) usv e GlauafBwmhm smwrh  Gsrifled Mt stsirnn  srsirs ?
<) srsvBemisall  @H6lHT0 ml Ul sTshisun
GlawsuuBha UG E NS ?
@) @#Glaun  gpswmufls meWswiea  wTemeu?
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